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Subject Specific Marking Instructions

Section A
Question Answer/Indicative content Mark Guidance
1 Evaluate the interpretations in both of the two 30 ¢ No set answer is expected

passages and explain which you think is more e At Level 5 and above answers will evaluate both

convincing as an explanation of the significance of interpretations, locating them within the wider

the battle of Lepanto (1571) for the ascendancy of the historical debate about the issue and using their own

Ottoman Empire. knowledge, and reach a balanced judgement as to

which they consider the most convincing about the
¢ Inlocating the Interpretations within the wider issue in the question.

historical debate, answer might argue that e To be valid, judgements must be supported by
Interpretation A puts forward the view that the relevant and accurate material.
Holy League was unable to inflict a significant o Knowledge must not be credited in isolation, it
defeat and Lepanto was soon avenged, therefore should only be credited where it is used to analyse
having little overall significance for the Ottoman and evaluate the interpretations, in line with
ascendancy. descriptions in the levels mark scheme

¢ In evaluating Interpretation A, answers might
argue that this view is valid as the Holy League’s
aim of retaking Cyprus failed.

e Answers might argue that Interpretation A is valid
as only 30 Ottoman galleys escaped and so it was
a spectacular event.

e Answers might argue Interpretation Ais valid as
the Holy League could not follow up its victory
because of the loss of men and bad weather.

e Answers might argue Interpretation A is valid
because by 1606 there were no major signs of
military decline.

e Answers might argue that Interpretation A is not
valid as the dynamic of expansion was over.

¢ Inlocating theInterpretations within the wider
historical debate, answers might argue that
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2*

Interpretation B puts forward the view that the
status quo was retained but the Ottomans were
exhausted and had reached the limits of their
expansion.

¢ In evaluating Interpretation B, answers might
argue it is valid as the Ottomans were unable to
make significant gains after this.

e Answers might argue that Interpretation B is valid
as the Venetians did give up Cyprus, paid a war
indemnity and reduced the size of its fleet.

o Answers might consider that trading agreements
were important as Venice needed grain and they
were heavily involved in the carrying trade.

e Answers might argue that Interpretation B is valid
as the Holy League collapsed and this allowed
Ottoman dominance in the East to continue.

e Answers might argue that Interpretation B is not
valid as in 1572 they had been able to rebuild their
fleet and drive the Holy League out of the Eastern
Mediterranean.

¢ Answers might argue that Interpretation B is not
valid as there was no real sign of Ottoman decline
by 1606.

¢ Answers might consider that Interpretation B is not
valid as Lepanto was only a short-term defeat as
they were able to defeat the Spanish garrison at
Tunis in 3 years.

‘Throughout the period from 1453 to 1606 Ottoman
Sultans were able to maintain their absolute power.’
How fardo you agree?

25

No set answer is expected
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In arguing that the Ottoman Sultans
maintained absolute power, it might be argued
that the janissaries owed obedience to the Sultan.
Answers might consider that the capture of
Constantinople gave the Sultan the right to the title
khan rather than just ghazi.

Answers might consider that fratricide
maintained the single line of succession.
Answers might consider that all the land
belonged to the Sultan.

Answers might consider that in theory he had
absolute power over slaves, Muslim and non-
Muslim subjects

Answers might consider that the Sultan could
make laws.

Answers might consider that he was
commander in chief and made all government
appointments; he was also Imam.

In arguing thatthey did not maintain absolute
power, it might be argued that their laws could not
contravene religious laws.
Answers might consider that his power
depended upon his personality and character.
Answers might consider the extent to which the
size of the Empire limited his power.

Answers might consider the factional fighting at
court after the death of Suleiman.

Answers might consider that the system was
based on conquest and when that ended it
created problems.

Answers might consider the weaknesses of
Selim Il, Murad Ill or Mehmed llI.

Answers might consider the rebellions against
the Sultan, particularly the Janissaries in 1589.

At higher levels answers might establish criteria
against which to judge

To be valid, judgements must be supported by
relevant and accurate material.

Knowledge must not be credited in isolation, it
should only be credited where it is used as the basis
for analysis and evaluation, in line with descriptions
in the levels mark scheme.
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To what extent did Ottoman conquests bring about a
loss of freedom for the peoples of the vassal states in
the period from 1453 to 1606?

In supporting the hypothesis that the peoples of the
vassal states lost their freedom, it might be argued that
toleration was unusual in Europe at this time.

Answers might consider that sons were taken to
serve in the army and became slaves (Devshirme).
Answers might consider that the conquered
lands had to pay tribute and taxes.

Answers might consider that Janissaries were
not able to marry, so as to remain loyal only to the
Sultan.

Answers might consider that the less able
became Janissaries and as part of their training
had to work as agricultural labourers.

Answers might consider that the Timar system
of land tenure was harsh.

In challenging the hypothesis and arguing that
the people of the vassal states did not lose
their freedom, it might be argued that offices were
open to anyone; anyone could become Grand
Vizier.

Answers might consider that living conditions for
the Devshirme were better than those in a Balkan
village.

Answers might consider that people could rise
in status and wealth.

Answers might consider that religious toleration
was allowed.

Answers might consider that the peoples gained
peace and stability which improved their day to
day freedoms in many areas.

25

No set answer is expected

At higher levels answers might establish criteria
against which to judge

To be valid, judgements must be supported by
relevant and accurate material.

Knowledge must not be credited in isolation, it
should only be credited where it is used as the basis
for analysis and evaluation, in line with descriptions
in the levels mark scheme.
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‘The Ottoman threat to Spain and its North African
outposts was never serious.” How far do you agree
with this view of the period from 1453 to 16067

¢ Insupporting the hypothesis that the threat
was never serious, it might be argued that they
were not powerful enough and could not maintain
supply lines in the Western Mediterranean.

e Answers might consider that they were more
concerned with expansion into Asia.

¢ Answers might consider that they were only a
threat because of the Habsburg Valois division
and that ended after 1559.

o Answers might consider that in the early period
and after Lepanto their dominance was limited to
the Eastern Mediterranean.

¢ Answers might consider that Charles V was
able to remove the Turks from Tunis — although
only in the short term.

e Answers might consider that the Turks were
unable to take Malta which would have given them
dominance of the Mediterranean.

¢ Inchallenging the hypothesisin the question, it
might be argued that they threatened Spain
because of their alliance with France.
e Answers might consider that fall of Tunis, 1534,
showed the threat.
e Answers might consider that there was potential
for support from Muslims within Spain.
e Answers might consider that they made use of
the Barbary pirates and its leader Barbarossa.
e Answers might consider the naval victory
against Spain, Venice and the Papacy in 1538.

25

No set answer is expected

At higher levels answers might establish criteria
against which to judge

To be valid, judgements must be supported by
relevant and accurate material.

Knowledge must not be credited in isolation, it
should only be credited where it is used as the basis
for analysis and evaluation, in line with descriptions
in the levels mark scheme.
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¢ Answers might consider that the Ottoman fleet
wintered at Toulon in 1540-1.

¢ Answers might consider the defeat off Djerbain
1560.

e Answers might consider the ‘alliance’ made with
the Barbary pirates.

¢ Answers might consider the fall of Rhodes.
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APPENDIX 2 — this section contains additional subject specific information

Use this space if you have extensive subject specificinformation that is inappropriate to include elsewhere.
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